A simple garter stitch scarf for an entire skein of
fingering-weight yarn, or add some mohair for a little
fuzz. This scarf is very adaptable for other weights, yarn
combinations, or dimensions.

Yarn: Option A: 100g of fingering weight yarn
Option B: 100g of fingering weight yarn + 50g lace
weight mohair

Needles: Option A: 3.5mm (US4)
Option B: 4.0mm (US 6)

Gauge: 22-24 sts = 4” /10cm. Gauge is not critical.
Other tools: darning needle, digital scale.

Finished Measurements: 5%” x 60-70” long

Weigh your yarn. This is Weight A. If you are using two
yarns held together, weigh the yarn which

Row 6 (WS): K to 3 sts before end of row, Kfb, sl2wyif.

Repeat these 6 rows until scarf is 5%” wide, or desired
width.

Weigh your yarn again. This is Weight B.
Weight A — Weight B = Weight C.

Add a gram or two to Weight C for safety.
MAIN SECTION

K to 2 sts before end of row, sl2wyif.

Repeat this row until the working ball of yarn reaches
Weight C, ending with a WS row.

DECREASING

Row 1 (RS): K to 4 sts before end of row,

you have less of.

Cast on 6 sts. K —knit

INCREASING

Rows 1-5: K to 2 sts before end of row,

Abbreviations:

K2tog, sl2wyif.

Rows 2-6: K to 2 sts before end of row,

Kfb — knit front and back sl2wyif.
SI2wyif — slip stitch purlwise

with yarn in front, twice.
K2tog — knit 2 together.
sl2wyif. St(s) — stitch(es)

Repeat these 6 rows until 6 sts remain.

Bind off 4 sts, sl2wyif. Bind off 2 sts.
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